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Note :

COMPUTER SCIENCE AND APPLICATIONS
PAPER-II

This paper contains Ohe Hundred (100) multiple-choice, matching questions,
each question c‘arrying TWO (2) marks. _Attempt All the questions.

" Ina college of 500 students, what is the probablllty that at least two students
have the same bu'thday ? '

@) 0 B

© 5 O

- What is the minimum height possible for a bi‘nary' tree of 17 vertices 7

@we . ® 3

© 4 o 5

Which of the following is true ?

(A) Every Eulerian graph is Hamiltonian

(B) Every Hamiltonian graph is Eulerian

(C) It ié easy to find whether a graph ié Eulerian .

(D) It is easy to find whether a graph is Hamiltonian

- Which of the following is false ?

(A) For every NFA, .there is a DFA that accepts the same language

- (B) For every NPDA, there is a DPDA that accepts the same language

(C) For every NDTM, there is a DTM that accepts the same language

(D) The union of CFGS is a CFG
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5.  IfPand Q are propositional variables, identify which of the following assertions

is a tautology. |
@ P=q S B eV =Q
© P=>®A@ @ P> @vQ

6. In the standard notation of predicate logic, which of the following assertions
| is valid for any universe and any interpretation of prédicates P(x} and
Qw7 |
(A) i lP(x} = Q)] < vx [Px) = Qx)]
(B} Ix IP(x) > Qx)] < [Qxf'(x) = IxQ(x)]
(IC) 3x [Plx) = Q)] < [3xP(x) = IxQ(x)]
D) Iz [Plx) > Q)] < [ExPk) = VxQx)].

7. Assume that you are representing 4-bit signed integers using the 2's complement

convention. Which of the following binary words denote the

value -5 ?
(A) 1001 | (B) 1100
(© 1011 D) 1010

8. Consider a boolean function of three variables which has the value 1 only
when there are an odd number of 1’s in the inputs. What is the nurﬁber of

minterms in the sum of products form of the function obtained from its truth

table ?
(A) 3 , . | (B) 4
(C) 5 | o ' D) 6

" Com. Sci. & App.-II | | 4



9.

10.

Given the C function as defined below :

int fn(int v)

{_' |
if (v==1 || v==0)
| " return 1;
if (v%2==0)

return Mm(v/2)+2;
else '
return fo(v-1)+3;

'}

determine the value of fn(7)
@A) 10 B 11
) 1 | D) 12
Consider the following C program :
main() |
!
int al51=(5, 1, 2, 3, 41, *p=a, *q=a+3, i
*ph=tp: '
*q%=*(a+2);
for (i=0; i<l; 1++) |
printf ("\n%d %d", plil, ql-il%;
- | |
Specify the output of the program.
& 251 . ® 20
(8] 25 2 - (D) ‘syntax error
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11.  In C++, if a class C is derived from class B, which is derived from class A,

all through pubhc inheritance, then a class C member functnon can access,
(A) Protected and public data only in C and B

(B) Protected and public data only in C

(C) Private data in A and B

(D) Protected data in A and B

12. ~ If class A is friend of class B and if class B is friend of class C, Whlch of
the following is true ?

(A) Class C is friend of class A
(Bj Class A is friend of class C |
(C) Class A and class C do not have any friend relation‘ship
(D) Class C is friend of both class A and class B
13. The 4th Normal Form deals with : |
(A) Full functional dependency
(B) Trﬁnsitive dependency
) Multi&alued dependency .
(]j) Pseudo-transitive dependency
14.... Consider the functional dependency set :
| F=ABC->D,BoEE > A,
Identify the correct statement. |
" (A) A can be dropped from F
B) B c_:an. be dropped from F
(C) C can be dropped from F
(D) D car be dropped from F

Com. Sci. & App.-II S



15.

. 16.

17.

18.

Consider the following relational schema,

 Employee(eid, ename, salary, address, dno), Dependent[eid, dependentname, relation)

then what does the following SQL query retrieve ?

SELECT eid FROM Employee MINUS SELECT eid FROM Dependent

(A) Employees who do not have dependents

(B) Dependents who are not employees

(C) Employees who have dependen'ts |

(D) Dependents whe are employees

A umque index is automatlcally not creat.ed on:
 (A) Candidate key - (B) anary key

‘:(C) Unique key - (D) Foreign key

Given pointer to a node X in a smgly lmked list. Only one pomter is given,
pointer to head node is not given, can we delete the node X from gwen linked

- list ?

(A) Possible lf X is not last node

- (B) Possible if size of linked list is known

(C) Possible if X is not first node

- (D) Not possible

A complete binary min-heap is made by in(;,luc_ljng each integer in [1...1023]

exactly once. The depth of a nod¢ in the heap is the length of the path from

‘the root of the heap to that node..Thus, the root is at depth 0. The maximum
"depth at which integer 9 can appear is : |

@4+ " ®) b

© 6 | S ™ s
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19.

2.

21.

22.

23.

The smallest number of keys that will force a B-tree of order 3 to have a
height 3 is : | |

A 18 : (B 15

- (C) 8 . D) 7

. Suppose we are imp_lethen_ting quadratic probing with a hash function
- Hash (X) = X mod 100. If an element with key 4594 is inserted and the first

three locations attempted are already occupied, then the next cell that will

'be tried is :
A 2 ' (B 3
C 9 ' ' Dy 97

Bandwidth signifies which of the following ?

(A) Class of IP used in Network

(B) Transmission capacity of a communication channel
(C) Toté.l number of computers in the Network

(D) Width of the Network

Which of the following system calls result in the sending of the SYN

packets 7
(A) Socket - (B) Bind
(©) Listen ®) Connect

If a class B network on the internet has a subnet mask of 255 255.248.0,

- ‘what is the maximum number of hosts per subnet ?

(A) 1022 ' (B) 1023

(C) 2046 | - (D) 2047

Com. Sc1 & App.-11 : 8



24

95, .A macro processor for assembly language may not be 1mplemented

'Wluch of the. followmg uses UDP as a. transport protoeol ?
(A) HTTP S (B) Telnet e

(© DNS e (D) SMTP

. '26.-__

27,

(A) Independent one-pass sssembler .

| (B) Independent two-pass assembler | o
_-(C) Processor meorporsted mto pass 1 of a standard twe pess assembler |
D) AnY one-pass assembler - | |
The program that is. not used as utlhty from the followmg is '- .
- -':_'.'__:<A> spooler e | (B) debugger
f(C)- oditor o a)) interpretor

'Whmh statement is correct for a parse tree of a stnng w belongmg bo L(G)
a where G is unamblguous grammar ?

(A) "There e:nsts exactly one leﬂ;-most order of denvanon and one equwslent -

" _'nght-most order of denvat.lon for every w-in L(G)

(B) There exlst more than one leﬂ:-most order of denvat;on but may not- o

| __be any equlvalent nght-most order of denvatwn for every w, m L(G)I | o

(s 'There may be. more than one- parse tree for w belongmg to L(G)

'. D) | ’l‘here emst one lefb-most order of denvstmn but ‘may have more than "

one eqmvalent rl.ght-most ordér of denvatlon for every w in L(G)

Com Sci: &App I o o IP-T-O.-] .




oo A sequence* of statements of t;he form x = y op z is uged
. @A) In Quadruple representatwn |

.'.(B) Only in 1 Triple representatmn o

S - (C) Only m Inchrect Tnple representahon

s ._ : (D) On]y in Indlrect Quadmp]e representauon

e

'Which one is a thh level abstractmn over semaphore ?

(A) Mutual Exclusmn o -(B) Shared Memory
(0) Messagmg IR (), Monitor o
Whlch memory aﬂocatmn scheme from the follomng suﬁ'ers fmm external |
L fmgmentatwn 7 R S
(4) Paging - o -'-'(‘fB) "mma Pagﬁig |
Y Segmntatmn D) Beth Wand ©

_ Assume four processes — Pl P2 PS and P4- w1th burst tlme of 6, 8 7 and'
3 mﬂhseconds r'espectwely If procesl is scheduled w1th SJF algonthm then" .

N '.whlch procesa has waltmg time ofO mllhseconds ?
wn . ®r

o T o P
B2
L "-sucb’éssﬁxlly otherwise to d.mplay File is not copwd is

Umx command to d:splay File copzed successfully if copy command executed -

fA) p'x y I echo Filo copxed suceessfully && echo Flle is not cop1ed o
'(—B)‘i'-'-ep x y &:& Echo File copred suceessfully {1 echo Flle 15 not copled .
| _‘-(C)_-.r c.p*x y : echo Fﬂe oopled suocessﬁﬂly echo Fﬂe 13 ‘not copled |

e (D) ép x y & echo Fﬂe oOpled Bueeess‘fully | echo F:le is not c0p1ed

ComScz&App-II te .'-.1_0'_7



36,

.- 38.

33. - __Whlch are the essentlal elements of pro_]ect mana.gement. ?.
| L People I, Process L Product IV Pm;ect. |
W Memdm B L1 end O
4 I and-IV 0 oinm
84.° .'W}uch tool is used for structure analyala r
I Y UML- T (B) DFD R
| ..(C)' Wafrior«Orr dlagram e (D) HIPO d1ag'ram |
.. 35. Test stubs and test drwers are : o
: _(A) Tested modules - (B) Dummy modu]fes
-. © Executable modules R (D) Non-executabln modules -
| Whlch model reduees the eost of deve}opment of a soﬂ;ware " o
(A) Waterfall | o _- ' (B) Prototypmg |
(o)) Iteratlve . 7 ' (D) Non-xteratwe o _
_. "37_.  If the camed load for eomponent is 3000 Erlang at 5%, Blockmg, what 1s'_
the offered load [ _ :
(A 3158 Erlang o (B)'--'Soos'--iﬂaﬂg"
L © 3020 Erlang D 3200 Erlang -

| ‘Which of the followmg is not a amnlanty between XML vmd HTML ?
- (A) ~Both- use taga to structure documents ' | . .' o
| _.(B)' Both are used to dlsplay data to end user mth the help ef a browser .' .
..(C) | Both are used to excha.nge data between apphcat:lons , : | a
‘W owyc ® AadB
: © B and C | A (D) A ar_:d c '




89,

A da-ta.whrehouse that is limited in. smpe and whosé data are obtaiﬁed by
"_selectmg and summanzmg data from the enterpnse data warehouse best'
- describes a(n) :

- _.(A) Informatmn desk o - (B) Rule base
(0 Data mart R 1) Data cent.er

'Datammmglsusedtoaldm

(A) Operatlonal data management

o (B) . Analyzmg past decxsmn made by managers |

B (C) Detectmg pattems m o;peratmnal data

L (D) Retrlevmg archlval data '

: 41._'..

e

‘What is the boolean functlon ﬂP QR that is nnplemented by the follown:ng |
_"_gate network ? - - -

Qe
R
"-._'(C) pQrz Y ) 3 PQR

5 _Mgardmg the number of mputs and outputs of a multlplexer, wlnch of the R
' -__follomng is correct ? '

- (A) More outputs, less mputs
- (B More mputs less nutputs

(C) Equal number of mputa and outputs :

.. ,_(D) Any number of mputs and outputs

._ Com.Scl&App-II___-__ :-‘_12



For 1nputs P and Q of a NOR latch whmh of the followmg states is
; prohlblted ?- - n T o L DI
@A) Pandeothhlgh ".-."(3) Pandeothlow

_(C) P low. andqrngh SRR ngh andQlow

'-_'In a nucmprocessor, the 1dent1ﬁcatlon of the current stage of executlon of
an mstructlon depends on the contents of a rmg counter How many dlﬁ'erent .
' states can be 1dent1ﬁed by a 6-b1t rmg counter R AT :

'_: @ 6 N : '_ (B) 26

© e ! o 81
. _:The Canomcal Cmrer for A set of functlonal dependenmes expresses T

[V

(A)  All possible functlonal dependencles o

| o (B) Munma] ﬁmctwnal dependencles
.. ' _(C) Denved funct:loual dependencles
(D) Al transntwe functlonal dependencles

46,

: _“ﬂuch of the followmg commands would genefate 1mphc1t lockmg of tuples
. (A) CREATE = . . ‘?_ (B) COMMIT -~ |
_ : (C) UPDATE - | o (D) GRANT __
47.. Concurrency contml for rephcated data is handled sumlarto unrephcated data:f -
in thch of the followmg d.wtnbuted concurrency oontml protoeo} 7
(A Primary Copy - (B) Majority Protocal
{C) Tree Protocol .. (D) Vahdataon based Protocol
_ The total numbers of pmjectlons posmb‘le on a relatlon of degree n wou.ld
Cwoa ._<B,')—2'n
@l




R

8¢ § we plot a lme with endpomts (20 10) and (30, 18) using Bresenham Lme
| 'Drawmg Algonthm the last five coordinates of the line on x-axis are :

(&) (26, 16), (27,16), (28, 16), (29,17) and (30,18)
~(B) (26, 14), (27,15), (28, 16), (20,17) and (30,18)
_xmmmﬂmm“ammmmm
'mnwm@mmmnmmmmw |
'How can you represent mﬁmty in 3D by usmg hamogenous eoordmates ?
__;m)&ﬁmmmum@mwmo__ E o
| (B) Set final (w) coordmate to mﬁmty o

(C) Set z coordinate to’ _0

| H'_--_(D) Not posmble

Cons:tder a raster system w1th the resolutlon of 1024 x 768 plxels and capable

_— of dmplaymg 24-bit color i 1mages What is the minimum amount of video RAM

- _'m Kbytes that the oomputer must have to support the. above—mentloned

o - resolutmn and number of colors ?

| _. ..(A) 2400 S B). .2304' E
CMYK models are used for - ‘ -
- (A) Computer dlsplay - o _(B) Computer prmtmg

(C) Video games o ) - ,(D) None ofthese
. - argv is a/an E -

o (A) Array of character pomters _
.~ (B) 'Pomter to an array of character pomters
o (C)- Array of strmgs o

o D) Array of stnng pomt.ers

'camSci&App-n S 7
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©
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©
D
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BT,

)

@

®

L ©

®)

T

| In whlch of the followmg parameter paeemg mechamam, the actual argument

| .'to be a vanable ?

-_Paee by 'r'eault_- S 3 .(B)I"P'a'.sa" by.va'.lue'

Pass by reference o fD) Both (A) and (B)

The regular expresaion (a + b)* bba denotes

All poselble combmatlons of a's and b'

Set of a]l strmga endmg W1th bba ‘

Set of a]l etrmge etartmg w1th b and endmg w:t.h hha

Set of all strmge etartmg mth a and endmg mt,h ba

advantage of uam.g parser wrth vahd preﬁx property is that

It detects an error where 1t has actually oocurred

It reports an error as posmble

_It detects an error much earher t.han lts oocurrenoe |
- It repairs all poselble_ errors.

Piggy backing is a method of :

Backeraeking - ‘_ e

Methods to oombme a data frame and ACK

__Methodatoeeparateadataﬁ'ame . o
| Com Sci. &App-II o 15 o __ '{P.T.'O‘.]



e

o 62__._ __

. 58 . How many characters per second (T b1ts+1 parlty) can be translmtted over .'
- a 3200 bps lme in case of synchronous and asynchronous transfer { stop and -
__'_1startb1t)‘? | | o .
@ w0400 @ 400, 3‘20-
. © sws20 @' 320, 400
59 __'_'Whlch of the follomng devwes translates between dlssumlar network -
._(A) Router B Repeate:'
:(0) Smtch R L (D) Gateway |
~ 60. In Selectwe Repeat ARQ wmdow size of sender and receiver must be :
o (B) 23 '
‘ _'_...".(C) 2"/2 ' (D) 1

Let A be a two-dnnenslonal array declared as follows

A array [1 ....... 10] [1 ........ 15] of char,

..Assummg that each char takes one memory locatlon the array is- stored m: v

row major order and the first element of the array is stored at. locatxon 100 :

’ what is the address of element A[1][]] ?

L "-":(A) 160+ + 84 o (B) 153 +i+84
'_--;'*'(C) 1o;+_;+89 IV Y 10,+1+89'
;_ If a oomplet.e bmary search tree contains 15 mteger numbers, what will be ; :
| the. maximum number of compansons performed to search for a number in
‘ 'the tree‘? | | L
o S e
Com.Scl &App-II o C16



64.

65.

From fastest to slowest, the correct order for the following algorithms is :

(A) Linear search, Binary search, Bubble sort, Heap sort, Finding the
maximum element of an unsorted array, Findihg the maximum element

of a sorted array.'

(B) Finding the maximum element of an unsorted array, Finding the
maximum element of a sorted array, Linear search, Binary search, Heap

sort, Bubble sort.

(C) Finding the maximum eie’ment of a sorted array, Binary éearch, Linear
search, Finding the maximum element of an unsorted array; Heap sort,
Bubble sort.

(D) Bubble sort, Heap sort, Binary search, Linear search, Finding the
maximum element of a sorted array, Finding the maximum element of

an unsorted array.

An algorithm that always takes the best immediate or local solution while

finding the solution is called :
(A) Divide and Conquer Algorithm (B) Local Algorithm
(C) Greedy Algorithm (D) Dypamic Programming -

Suppose you have written a Java program MyJavaProgram and compiled it
and ran it. In default file naming convention, which of the following files
is interpreted by the JVM ?

(A) Myd avaProgfam.java (B) MyJavaProgram.exe

(C) MyJavaPrbgrain.class - (D) MydJavaProgram.com

Com. Sei. & App.-1I 17 . [P.T.0.]



66.

67.

69.

70.

71,

In C++ and Java, which bf the following features is not essential for

polymorphic behaviour of programs ?
(A) Inheritance : - (B) Method overriding

(C) Method overloading (D) Encapsulation

Which of the following HTML tags is not essential for a valid HTML document ?
A <itles  (B) <html>
:(C) <body> (D) <source>

~ Which of the following is a java serviet container ?

(A) Apache ~ (B) Tomeat

© us - (D) Oracle

A-risk' analysis; activity is-a major actiﬁty associated with :

(A) “Waterfall model _ (B) Prototyping model

(C) Spiral model . (D) Both (B) and (C)
Modularity in software design pertains to.:

(A) Aggregation of components ®) Consistency in oompone.nts
(C) Partitioning of components (D) Both (A) and (B)

Which one of the following is not an attribute of code quality ?

(A) Complexity o (B) Component‘ completeness

(C) Maintainability D) Undefstandability

Com. Sci. & App.-II | 18



72.  Which testing is used to reset the whole software after .niodiﬁcz_ition hns been

made ?
(A) - Acceptance testing (B) Regression testmg .
(C) - Unit testing .- : (D) Integratlon testmg

73. What are Daemons in Un.ix for :

. (A) Run permanently and handle tasks like updatmg log ﬁles, managmg

network connections etc.
B) .A:e invoked once_' to initialize and conﬁgnre sonie aspe'd of theopenatmg o
system-' - : : S Lt
(C) Provxde the standard C l1brary for programnung
(D) Both (B) and (C)
74 Thg D1n1ng——PhJIqsophers' pmblérn w1]l occur in cn_se_ of
(A)  5 philo?sophers -and 5 chnpstinké .
(B) 6 plulosophers and 5 chopstxcks _
(C) 3 plulosophers and 5 chopstlcks
(D) 4 philosophers an_d 5 chopsticks

75. The 'averagé time required to 'reéch a storage location in memory and obtain
~its contents is called .thé : | |
(A) Turnaround time =~ (B) Seek time
(C) Throughput’ - (D) Access time

Com. Sci. & App.-TI 19 - [PTO]




76. Which one is more important while acoessing data on the disk ?
(A) ‘Turnaround time _ (B) Seek time
() | Rotational time - D) Granularity-
77.  Cut in PROLOG is a : |
(A) Goal that always fails
(B) Representation of procedural knowledge
(C) Shell
| D) Goal that alv;vallysl succeeds..
78. | Which aﬁe of the following is frue ﬁhen' exaétly twb of P, Q or R are

true ?

A Pr@ARVEPAGARIAGAQAR)

B PvQvRAPVvRVRAPVQYER)
C) PAQARVEPAQGQARVE®AQAR)
D PAQArRAPAQAR)VIP /\Q.A R)
79. The decision—'n.lakjng environment (;f an executi'vel level m‘anager can be
characteﬁzed as : |
(A) Structured o (B) Semistructured
(C} Unstructured (D) Both (B) and (C)
80. An Expert system contains : |
(A) Declarative knowledge. "~ (B) Procedural knowledge

(C) Heuristic knowledge (D) Analytical knowledge
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8l. A Flmte State Machine can recognize :
(A) Any grammar | |
(B) Only coht;ext sensitive grammar
- (C) Only context free gramma;
) Only _'regular grammar
82. How many of the following lénguages are context free ?
(1) L = {aibick|ijk>=0 and either i = j or j = A}
2) L={w |_w congists of all strings made up of ‘a’s and b’s and number of
g’s is more than number of b's} '
3 L ={0*1%n> 0} u {Onlznin > 0).

(4) L= {w | w consists of all strings made up of a’s and b’s that start and

end with the same symbol}
@ 1 |  o® 2
©) 3 D)4
83. How many of the following statements are. true ?
(1) | LetL'=L1 nL2. If L'_ is regular andlLl is regular, L2 must be regular.
(2) .Ev.ery subset of a régula_r language is regular

(3) The language L = {x ¢ (a, b}* : x contains exactly two more b’s than

a’s | is not regular.
- {(4) If L1 and L2 are not regular languages, then L1 w L2 is not regular.
@ 1 o ® 2 |
(© 3 D 4
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- 84. Context Sensitive Grammar is
\ (&) Type 1 Grammar (B) Type 2 Grammar
(C) Type 3 Grammar (D) Type 4 Grammar
85, An _a]ph'al:.vet consists of the letters A, B, C and D. The Qrob_ability of occurrence
" is P(A) = 0.4, P(B) = 0.1, P(C) = 0.2 and P(D) = 0.3. The Huffman code
assigns : | R
(A) One bit to letter A and two bits to letter D
.' .:(B)_. Two bits to letter A .'and three bits to lettei' D
(C) One bit to letter A and three bits to letter D
(D) Two bits to letter A and four bits to letter D
. 86.  Which of the 'followix.lg. are the properties of Fdﬁrier Transform ?
| (@) Spﬁtia_l_ Frequehcies | -
.. ) -Separability
'-.(c)- Uhiq_uénéss
(d) Convolution
{e) Inﬂer_prpduct Pre.se.rvationl |
@ ab ) ®B) d,c,e
C) a,cd | D) a,b,¢,d, e
_ 87 Which of the foHowiné is not a .JPEG Encd_def ‘block ?
(A) Forward Discreté Cosine Transforﬁl |
(B) Maximizer
(C) Quantizer
: (D) Entropy Encoder |
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- 88

89.

90.

9L

st

The best visual compression quality is ac}ueved usmg

(A) Fourier . _ (B) DCT

(C) Wavelets @ Dolby
Whlch one of the followmg is wrong " |

(A) A bounded com_rex_ polyhedmp is known as a convex polytope.

(B) The intersection of' ahy number of convex sets is alSo convex.
(C} The local minimum solution is global for a lmear programmmg problem o

(D) Transportatlon problem is NLPP

The type of situation in solwng LPP when there i is a tie in outgolng variables
i8 known as :

(A) Consistency - . B) Degeneracy
(C) Inconsistency o o (D) Unbalanced _
What is not true about asmgnment and transportatxon probloms ?

(A) Both are special types of LPP

B Relatlonshlp between variables and. constramts are lmear
(C) Coefficients of variables in the solution wﬂl be e1ther 0 or 1
D) Both are basically ma:nnnzatlon problems

Con81der the following LPP : o

Max 21 + 3x2

4l + 622 <12, %1 + 22 > 1, x1 — 222 < 2 x1, 22 2 0

It has

(A) No feasible solution

(B). Unique optimum solution

{C) Exactly tﬁvo optimum solutioﬁs-

(D) Infinitely many ophmum solutions
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93.

94.

95.

Which of the following boolean functions or operators cannot be represented

by a single layer neural network ?

(A) NOR ' . (B) XNOR

(C) NAND - (D) OR

Consider the following artificial neuron with two inputs x, and x5 and a bias

input tied to -1. Determine the boolean function represented by the neuron

with the given weights for unit thresholding (signum) activation function .

(A) OR | (B) AND

(C) NOR - (D) NAND

If A and B are two Fuzzy sets with membership functions A(x) and B(x) deﬁned

for any real number x, then membership function for the set of elements in

A but not in B is given by :

(A) Maximum {AG), B}  (B) Minimum [A®), 1 — B@)}

(C) Maximum {A(x), 1~ B(x)] (D) Minimum {1-AG), B@)}
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"LetXbeaumversnlaetandPQDbextapoweraet.LetgbeaFuuymmm o
.and Bel be & Bahef measure on X, PX)). Conmder the asserhons

81: g(AnB)sHmlg(A) g(B)landSE BeIM)+Bel(Jl°)SI

" Then :

9.

(A) Both S1 and S2 are False (B) su-mﬁmSqu‘- -

© SluTruebutS21lFalae U))BothSlandszareTme

'-Whmh Class is used to handle the Windows Meuage and Control' "
@A) C'View PR . ® c'MDmr_amaivxia C
(C) CFrameWnd . . @ CWad |
98, ‘WhlcheommandmusedtocreataasymohclmkmUm? |
 ®wm ® |
‘©ou @ w
- 99. Rosultofeondltwnsﬁ erﬁand5u05mUmxshellpmgrunmmgwil1
| bemp&ﬁﬁ"el)’ | ; | ' |
W) TresdToe 0 ® Trus and Felse
© _Falseand-n?ue' @ False and False
© 100, Windows XP uses: EE -
(A) Priority-based Non-Preomptive schoduhns nlgonthm
(B) Priority-based Preemptlve scheduhng algorithm
(C) Round Robin schedulms
D) Both (A) and (C) I
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